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1. (a) P(S = k|U = 0) = P(S=k,U=0)
P(U=0) = P(X1=k,U=0)

P(U=0) = P(X1 = k) (par indépendance).

(b) P(S = k|U = 1) = P(S=k,U=1)
P(U=1) = P(X1+X2=k,U=0)

P(U=0) = P(X1+X2 = k) (par indépendance).

(c) E(S|U = 0) =
∑

k≥1 kP(S = k|U = 0) =
∑

k≥1 kP(X1 = k) = E(X1) = 7/2
E(S|U = 1)

∑
k≥1 kP(S = k|U = 1)

∑
k≥1 kP(X1 + X2 = k) = E(X1 + X2) = 7.

(d) E(S|U) est une fonction de U donc E(S|U) = (7/2)(1 + U).

(e) E(S) = E(E(S|U)) = E((7/2)(1 + U)) = (7/2)(1 + p).

2. (a) Soit n ≥ 1,

E(Mn+1|Fn) = E(X1 + · · ·+ Xn+1 − n(n + 1)2p− 1)|Fn)
= X1 + · · ·+ Xn + E(Xn+1)− (n + 1)(2p− 1) = Mn .

(b) Par théorème d’arrêt, (Mn∧T ) est une martingale donc E(Mn∧T ) = E(M1) = E(X1 −
(2p− 1)) = 0.

(c) On a : 0 = E(M1) = E(MT ) = E(ST −(2p−1)T ) = a−(2p−1)T donc E(T ) = a/(2p−1).
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